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1.1
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1.2.1
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o
D
2)
3)
@
D
2)
1.3
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D
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1
1.1
@ :
(@) :SY295
(©) :E = 2.000x 10°(kN/m?)
)
------ Hiw
m G.L. 2.700
m G.L. 2.000
m G.L. 1.200
m G.L. -4.000
m G.L. -7.500
m 9.500
Ao cm’/m 173.20
lo cm‘/m 32400
Z0 cm’/m 1800
A cm’/m 112.58
1 cm‘/m 21060
Z cm’/m 1170
®)
:30
0.300 mm/
0.020 mm/
0.300x 30=9.000 mm
0.020x 30=0.600 mm
(1 ):a, = 0.65
(¢4 ):a:=0.65
: A =0a A = 0.65x 173.20 = 112.58 cm*’/m
1 = a,l, = 0.65x 32400 = 21060 cm‘/m
Z =0a ;Z, = 0.65x 1800 = 1170 cm*/m

FORUMS8




1.2
1.2.1
€y
1
o

I o1 s

B 61200/ 10,77

LWL G.L. 0.000 14,27

— 18. 63
2. 00
EIE/KIE G L. —4.000 39. 50

69. 50
Pai = Kui[z Y ihi+ d }
cos f3
cos® ¢ ;
K, ai = (b 2
sin(d)ﬁ'éa)sin(d)a—ﬁ)
cos 6 ;| 1+
cos § icos fB
K. = K’ 4iCOS O ;
cos § isin( ¢+ )
cot(L=B) = ~tan(¢d+ 6 —B)tsec(d i+ 86— B)
cos Bsin(dpi—fB)
Puii = 2 v ihitq—2c¢;
Paiz = 0. 5(2 0% ihw+q)
No 'l GL(m) Qm) 3 wom | = rheg ca Pal Pa2 Z
v () kN/m? KN/’ KN/’ )
1 2.700 1.500 | 18.0 | 30.00 0.0 10.00 0.291 2.91 ——— 56.860
1.200 15.00 0.0 37.00 0.291 10.77 ———= 56.860
2 1.200 | 1.200 | 10.0 | 30.00 0.0 37.00 | 0.291 10.77 - 56.860
0.000 15.00 0.0 49.00 0.291 14.27 ——— 56.860
3 0.000 | 1.500(10.0| 30.00 0.0 49.00 | 0.291 14.27 -— 56.860
-1.500 15.00 0.0 64.00 | 0.291 18.63 - 56.860
4 -1.500 2.500( 6.0 35.00 55.0 64.00 1.000 -46.00 | * 32.00 | 45.000
-4.000 0.00 55.0 79.00 | 1.000 -31.00 | * 39.50 | 45.000
5 -4.000 | 10.000 | 6.0 | 35.00 55.0 79.00 1.000 -31.00 | * 39.50 | 45.000
-14.000 0.00 55.0 139.00 1.000 29.00 | * 69.50 | 45.000

FORUMS8




2)

Dyi

’ —
K =

Ky

cot(L—B) = tan(¢151+B)+sec(¢151+6)w/

b
= K ,cos

W& K G. L. 2.700
AEL Gl L8
Ko W.o L. U. L. 1. Z2UU
L.W.L. G.L. 0.000
REEKIEE G L. —4.0Q0
110. 00
/
/
/
/
/
//
170. 00
= Km’ 2 ihi+
{ v cos f3 }
cos® ¢ ;
sin(¢:=6:)sin(¢:+8) ’
cos 6 ;| 1-
cos 0 icos B

cos §:sin(¢p—§1)

cos Bsin(¢ +3)

Ppi = hX v shitg+2c;
No h 9 c
GL(m) 0 . | Zrh+q Pp 4
(m) % () kN/m KN/m? Kp KN/ )
1 -4.000 | 10.000 | 6.0 | 35.00 55.0 0.00 1.000 110.00 | 45.000
-14.000 0.00 55.0 60.00 | 1.000 170.00 | 45.000

FORUMS8




@)
1
R.W. L. G.L. 1.200
L.W.L. G.L. 0.000
REEKZE G L. —4.000
No h pw
6L | my | ks
1] 1.200| 1.200 0.00
0.000 12.12
2 0.000 1.500 12.12
~1.500 12.12
3| -1.500| 2.500| 12.12
-4.000 12.12
a| -a.000|10.000| 12.12
-14.000 12.12
A
(N/T) (kN/T)
ol e |
1 2.700 1.500 —_—— 2.91 0.00 2.91
1.200 - 10.77 0.00 10.77
2 1.200 1.200 —-— 10.77 0.00 10.77
0.000 —_—— 14.27 12.12 26.39
3| 0.000]| 1.500 . 14.27 12.12 26.39
~1.500 - 18.63 12.12 30.75
a| -1.500| 2.500 e 32.00 12.12 44.12
~4.000 o 39.50 12.12 51.62
5 -4.000 | 10.000 110.00 39.50 12.12 51.62
~14.000 170.00 69.50 12.12 81.62
1.2.2
€H)
1
( =3.510m G.L.-7.510m)

12. 12

12. 12

12.12

12. 12

FORUMS8




3)

-5-
(KN.m/m) (kN/m)
(Ma) 1975.75 | (Pa) 384.49
(Mp) 2964.01 | (Pp) 423.06
F = Mp/Ma 1.50
2)
m (G.L.  2.700)m
m (G.L.  2.000)m
m (G.L. -4.000)m
m (G.L. -7.500)m
( ) m 10.200
( - ) m 9.500
( - ) m 3.500
2. 700 2. 700
0. 77 S
[a\]
26. 39 —
——126.39 o
\ 3
30, 75 =
\44.12
\ o
| B
\ o
-4. 000 \51.62
~ 110. 00 |51. 62
/ |
/ |
o / \ o
e} / \ [e)
o / | o
/ |
/ \
131. 00/ 162. 12
(KN.m/m) (kN/m)
(Ma) 1970.34 | (Pa) 383.87
(Mp) 2952.60 | (Pp) 421.75
F = Mp/Ma 1.50  Fa=1.50 ...NG
( )
pl p2 h = (pl p2)x h/2
= ( ) (W3)x (p1 2x p2)/(pl p2)
No h pa Pa y Ma
GLeM | m) | kw/m KN/ m KN.m/m
1 1.200 | 1.200 10.77 22.30 0.684 15.25
0.000 26.39
2 0.000 | 1.500 26.39 42.85 1.969 84.39
-1.500 30.75

FORUMS8



No h pa Pa y Ma
GLaM | ) | ke KN/m n KN.m/m
3| -1.500 | 2.500| 44.12| 119.67 | 3.983 476.62
~4.000 51.62
4| -4.000| 3.500| 51.62| 199.04| 7.004| 1394.08
~7.500 62.12
s 383.87 1970.34
No h pp Pp y Mp
GLaM | ) | ke KN/m m KN.m/m
1| -4.000| 3.500| 110.00| 421.75| 7.001| 2952.60
~7.500 131.00
s 421.75 205260
@
1
2. 700 2.700
.91 o
<
Lo
10. 77 =
E— S
[aN]
26. 39 A
26. 39 o
Y S
Lo
\ 30. 75 =
4, 12
$
o
)
Lo
o
— <
100 8 51. 62
s

FORUMS8




2)

m (G.L. 2.700)m
m (G.L. 1.200)m
m (G.L. -4.000)m
m 5.200
Mmax kN.m/m 121.68
) m 2.900(G.L. -1.700)m
Smax kN/m 109.62
) m 5.200(G.L. -4.000)m
RA kN/m 85.47
RB kN/m 109.62
O max m 0.0052
( ) ) m 2.700(G.L. -1.500)m
Vot ey | )
(KN/m*) (KN/m*) (KN/m*)
1 2.700 | 1.500 0.00 2.91 2.91
1.200 0.00 10.77 10.77
2 1.200 1.200 0.00 10.77 10.77
0.000 0.00 26.39 26.39
3 0.000 | 1.500 0.00 26.39 26.39
-1.500 0.00 30.75 30.75
4 -1.500 | 2.500 0.00 44.12 44.12
-4.000 0.00 51.62 51.62

FORUMS8




1.3
1.3.1
@
D

MR mE Kug 6. L. 2.700

H.W. L. G.L. 1.800 =93
Rt 6t — 12060 12. 33
.9
37 76

L.W. L. G.L.  0.000 .
18, 96
25. (}2
29. 50
EIE/KIE G L. —4.000 37. 00

67.00

Pai = K;,;[Z Y ihi+ d }

cos f3
i cos’(¢p—03)
K. = 2
Sil’l(qﬁﬁ’(sosin((ﬁjfﬁiei)
cos 0 icos(§+0 ) |1+
cos(§+0)cosp
K. = K .icosd

cos(§:+0:)sin(p:i+61)
cosfBsin(¢—B-0)

cot({—B) = tan((bﬁ@jﬁﬂsec(qbﬁéiﬁ)\/

S T 10mEA
3 (2 V1h1+Q)Sin(<ai+91) Ci
Perr = cos 0 sin { . cos { .isin

Cu = tan‘\/l—(iy2 d ) tan 0 ;
Ci

P.iz = 0. 5(2 Y ihi+q)
T T () IDRESS
D1 = 2 v shitq—2c;
Paiz = 0. 5(2 Y ihi+q)

FORUMS8



2)

No h ¢ c
GL(m) o) > | Z rh+q K 0 Pal Pa2
M LYy |y |k ()| *@ KN/ kv | C)
1 2.700 1.500 [ 18.0 | 30.00 0.0 5.00 0.14 | 7.970 | 0.385 1.93 -—— 49.201
1.200 15.00 0.0 | 32.00 0.14 | 7.970 | 0.385 12.33 -—— 49.201
2 1.200 1.200 | 10.0 30.00 0.0 | 32.00 0.16 9.222 0.404 12.92 ——— 47.801
0.000 15.00 0.0 | 44.00 0.16 | 9.222 | 0.404 17.76 -—— 47.801
3 0.000 1.500 [ 10.0 | 30.00 0.0 | 44.00 0.19 [ 10.965 | 0.431 18.96 ——— 45.742
-1.500 15.00 0.0 | 59.00 0.19 | 10.965 0.431 25.42 ——— 45.742
4 -1.500 | 2.500| 6.0 35.00 55.0 | 59.00 0.22 | 12.567 | 1.000 -37.17 | * 29.50 | 45.000
-4.000 0.00 55.0| 74.00 0.22 | 12.567 | 1.000 -18.42 | * 37.00 | 45.000
5 -4.000 | 10.000 | 6.0 | 35.00 55.0 | 74.00 0.27 | 15.139 | 1.000 -14.34 | * 37.00 | 45.000
-14.000 0.00 55.0 | 134.00 0.27 | 15.139 | 1.000 66.27 | * 67.00 | 45.000
HFREKdm G. L. 2.700
H.W. L. G.L. 1.800
Rt 6t — 1260
L.W.L. G.L. 0.000
KR G L. —4.0Q0
110. 00
170. 00
Pri = Km|:2 0% ihit }
cos BB
i cos” (¢ =0 )
KW = >
sin(¢pi—6)sin(¢p:+B-0)
cos 0 icos(6—05) |1~
cos(§i—0:)cosp
K,: = K ,icos §;
cos(6:=0:)sin(p:—61)
cot(L—B) = tan( ¢~ 6 +B)+sec(p i~ 6+ B)
cosBsin(¢+B-0)

Dy = X v hi+q+2c;

FORUMS8




- 10 -

No | GLqm) Qm) 3 woe | Erhra| K 0 ‘ Pp Z
v () KN/ () P kNt | ()
1| -4.000 |10.000| 6.0 | 35.00| 55.0| 0.00| 0.34[19.031| 1.000 | 110.00 | 45.000
-14.000 0.00| 55.0| 60.00 | 0.34(19.031| 1.000| 170.00 | 45.000
@
1)
R.W.L. G.L. 1.200
L.W.L G.L.  0.000 12.12
< 12. 12
E1E/KIZE G L. —4.000 12.12
=
12. 12
No h pw
CLCM | ) | kN
1 1.200 | 1.200 0.00
0.000 12.12
2 0.000 | 1.500 12.12
-1.500 12.12
3| -1.500 | 2.500 12.12
-4.000 12.12
4| -4.000 | 10.000 12.12
-14.000 12.12
3
(KN/m?) (kN/m)
Vot ey | )
1 2.700 | 1.500 — 1.93 0.00 — 1.93
1.200 — 12.33 0.00 — 12.33
2 1.200 | 1.200 — 12.92 0.00 — 12.92
0.000 — 17.76 12.12 — 29.88
3| 0.000| 1.500 — 18.96 12.12 — 31.08
-1.500 — 25.42 12.12 — 37.54
4| -1.500 | 2.500 — 29.50 12.12 — 41.62
-4.000 ——- 37.00 12.12 — 49.12
5| -4.000 | 10.000 110.00 37.00 12.12 — 49.12
-14.000 170.00 67.00 12.12 — 79.12

FORUMS8



) (W/3)x (p1 2x p2)/(pl p2)

- 11 -
1.3.2
@
1)
( =2.060m G.L.-6.060m)
(kN.m/m) (kN/m)
(Ma) 1243.19 | (Pa) 298.12
(Mp) 1495.40 | (Pp) 239.33
F = Mp/Ma 1.20
2)
m (G.L. 2.700)m
m (G.L. 2.000)m
m (G.L. -4.000)m
m (G.L. -7.500)m
( - ) m 10.200
( - ) m 9.500
( - ) m 3.500
2. 700 2. 700
(2.92 S
N
29. 88 —
ESI.OS )
(]
Lo
37.54 _
41. 62
(]
(]
Lo
N
-4, 000 49,12
110. OO// \\49. 12
/ \
/ \
o / | o
= / | =
o3 / \ o3
i \
/ \
131. 00/ 159. 62
(KN.m/m) (kN/m)
(Ma) 1904.22 | (Pa) 380.87
(Mp) 2952.60 | (Pp) 421.75
F = Mp/Ma 1.55 Fa=1.20 ...0K
3) )
pl p2 h = (p1 p2)x h/2

FORUMS8



- 12 -

No h pa Pa y Ma
LM | m) | kw/m KN/ y KN.m/m
1| 1.200| 1.200| 12.92| 25.68| 0.679 17.44
0.000 29.88
2| 0.000| 1.500| 31.08| 51.47| 1.974 101.57
~1.500 37.54
3| -1.500| 2.500| 41.62| 113.42| 3.984 451.94
~4.000 49.12
4| -4.000| 3.500| 49.12| 190.29| 7.006 | 1333.27
~7.500 59.62
s 380.87 1904.22
No h pp Pp y Mp
GLaM | ) | ks KN/m n KN.m/m
1| -4.000| 3.500| 110.00| 421.75| 7.001| 2952.60
~7.500 131.00
s 421.75 2952.60
@
1
2. 700 2. 700
93 o
)
Lo
12. 33 =
2 S
[aN]
29. 88 =
3L. 08 o
[e)
Lo
37.54 =
1. 62
\ _
\ (=]
\ *
N
— ()
1.000 8 49.12
s

FORUMS8




- 13 -

2)

m (G.L. 2.700)m
m (G.L. 1.200)m
m (G.L. -4.000)m
m 5.200
Mmax kN.m/m 126.16
) m 2.800(G.L. -1.600)m
Smax kN/m 108.63
) m 5.200(G.L. -4.000)m
RA kN/m 92.64
RB kN/m 108.63
O max m 0.0054
( ) ) m 2.700(G.L. -1.500)m
Vot ey | )
(KN/m*) (KN/m*) (KN/m*)
1 2.700 | 1.500 0.00 1.93 1.93
1.200 0.00 12.33 12.33
2 1.200 1.200 0.00 12.92 12.92
0.000 0.00 29.88 29.88
3 0.000 | 1.500 0.00 31.08 31.08
-1.500 0.00 37.54 37.54
4 -1.500 | 2.500 0.00 41.62 41.62
-4.000 0.00 49.12 49.12

FORUMS8




- 14 -

1.4
€Y)

1w

SY295

> N

x 10°(mm*/m)

x10°(mm’/m)

1170
1.000
112.58

¢)

Mx

10°(N.mm/m)

Nx 10°(N/m)

121.68
126.16

0.00
0.00

®

MX10°

NX10°
+

a = ZX10°

AX10?

(N/mm?)
(N/mm?*)
(cm*/m)
(cm?/m)

o
N/mn?

oa
N/mn?

104.0 180.0
107.8 270.0

OK
0K

FORUMS8



- 15 -

2
2.1
2.1.1
(€D *H
(@) 1 2.400 (m)
3 - SHK400
4 :E = 2.000x 10°(kN/m*)
®)
—————— H 350x 350x 12x 19
m G.L. 2.700
m G.L. 2.000
m G.L. 1.200
m G.L. -7.500
m 9.500
Ao cm’/ 171.90
lo cm/ 39800
Z0 cm’/ 2280
A cm’/ 171.90
| cm/ 39800
z cm’/ 2280
Q)
:30
:0.020 mm/
:0.020x 30 = 0.600 mm
(1 ):a, = 1.00
z ):a,=1.00
: A=a, =1.00x 171.90 = 171.90 cm*/
1 =a,l, = 1.00x 39800 = 39800 cm'/
Z=0a ;Z = 1.00x 2280 = 2280 cm’/

FORUMS8




- 16 -

2.2
2.2.1
@
Lm1/3
1
(G.L.-4.000 m)
No h . . Ldi (m)
G.L.(m) | G.L.(m) m o C) CaC) = hi cotl a
2 -1.500 -4.000 | 2.500 35.00 45.00 2.500
1 1.200 -1.500 | 2.700 30.00 56.86 1.763
2z 5.200 4.263
2)
- ” . e . Lml
%zh@ﬁ&%ﬂ?zh&%ﬁ@ﬁﬁm%—-g—
8. 767
= G. L. 1.200 - = G.L.-1.722(m)
No h . . Ldi (m)
G.L.(m) | G.L.(m) m ®C) ¢pC) = hi cotl p
2| -1.500 | -1.722| 0.222 35.00 45.00 0.222
1 1.200 -1.500 | 2.700 30.00 20.65 7.163
2z 2.922 7.385
3)
Ldmin
Ldmin = Z hi cot{ a + ~ hi cot{ p =4.263 +7.385 =11.648(m)
)
Ld =11.648(m)
Ld =13.500(m)  Ldmin =11.648(m)... OK
®3) Lml
Ldmin = 11.648(m) Lml
1)Lml
Lml
7T
Lml = — = ————— =8.767(m)
B 0. 358341
2) B
B

B

4JkH-B N/ 15000. 0 X 350. 0 X107
4ET o 4X2. 000X 10°X39800X 10X 1. 000

=0. 358341 (m™)

kH = 15000.0(kN/m°)
B = 350.0x 107°(m)
B H B
E = 2.000x 10°(kN/m?)
I = 39800x 10°*(m")
( ) o = 1.000

FORUMS8



- 17 -

3)
kH = 15000.0(kN/m*)
Ldmin=11. 648
La=4. 263 Lp=7. 385
G. L. 1. 200
c. L. Salogd- 990
e BEEE=13. 500
2.2.2
€Y
3. 00 3. 00
D= = =8.372(m) = FERANE=8.700(m)... 0K
B 0. 358341 (m) & & (m)
(G.L. 2.000)m
(G.L. 1.200)m
(G.L. 1.200)m
@) 0.358341
D = 3.00/B 8.372(G.L. -7.172)m
(m) 8.700(G.L. -7.500)m
0K
9.500m
1) B
B
kKH-B 15000, 0X350. 0X 107 i
g =" = - — =0. 358341 (m™")
4Bl o 4% 2.000% 10°X 39800 X 10X 1. 000
kH = 15000.0(kN/m?)
B = 350.0x 10°(m)
B H B
E = 2.000x 10°(kN/m?)
I = 39800x 10°(m*)
( ) o =1.000

FORUMS8




- 18 -

2)

2.2.3

€Y
D

H
Mmax = 0. 3224? = 0.3224X

kH =

15000. 0(KN/m)

205. 13
0. 358341

=184. 55

1 H = Rax Lx secf ®
2) ( )
7T 7T
Lm = = =2.192
48 4X0. 358341
B m? 0.358341
H kN/ 205.13
( ) h m 0.000
Mmax kN.m/ 184.55
( ) m 2.192(G.L. -0.992)m
@B
D B
B
~[kH-B 15000. 0X350. 0 X107 .
B =" = - — =0. 358341 (m™)
4ET o 4X2.000X10"X39800X107X1.000
kH = 15000.0(kN/m?)
B = 350.0x 10°(m)
E = 2.000x 10°(kN/m?)
I = 39800x 10°°(m‘)
( )a = 1.000
2)
kH = 15000.0(kN/m*)
€)
H
= - < 5 a
2Bl a B°
B m* 0.358341
E x 10°  kN/nf 2.000
1 x 10° m/ 39800
a [ - 1.000
H kN/ 205.13
( ) h m(G.L.m) | 0.000¢G.L. 1.200)m
d0a m 0.030
- H 205. 13
2ET o B 2X2.000X10°X39800X 10X 1. 000X 0. 358341°
o =0.028(m) o a=0.030(m)... OK

FORUMS8




- 19 -

2.3
2.3.1
@
Lm1/3
1
(G.L.-4.000 m)
No h . . Ldi (m)
G.L.(m) | G.L.(m) m o C) CaC) = hi cotl a
2 -1.500 -4.000 | 2.500 35.00 42.50 2.728
1 1.200 -1.500 | 2.700 30.00 46.52 2.560
2z 5.200 5.288
2)
- ” . e . Lml
%zh@ﬁ&%ﬂ?zh&%ﬁ@ﬁﬁm%—-g—
8. 767
= G. L. 1.200 - = G.L.-1.722(m)
No h . . Ldi (m)
G.L.(m) | G.L.(m) m ®C) ¢pC) = hi cotl p
2| -1.500 | -1.722| 0.222 35.00 45.00 0.222
1 1.200 -1.500 | 2.700 30.00 18.74 7.960
2z 2.922 8.183
3)
Ldmin
Ldmin = Z hi cot{ a + ~ hi cot{ p =5.288 +8.183 =13.471(m)
)
Ld =13.471(m)
Ld =13.500(m)  Ldmin =13.471(m)... OK
®3) Lml
Ldmin = 13.471(m) Lml
1)Lml
Lml
7T
Lml = — = ————— =8.767(m)
B 0. 358341
2) B
B

B

4JkH-B N/ 15000. 0 X 350. 0 X107
4ET o 4X2. 000X 10°X39800X 10X 1. 000

=0. 358341 (m™)

kH = 15000.0(kN/m°)
B = 350.0x 107°(m)
B H B
E = 2.000x 10°(kN/m?)
I = 39800x 10°*(m")
( ) o = 1.000

FORUMS8



- 20 -

3)
KH = 15000.0(kN/n)
Ldmin=13. 471
La=5. 288 1p=8. 183
G. L. 1. 200
G.L.-L.722
c. L. Salogd- 990
B FEEE=13. 500
2.3.2
(€H)
3. 00 3.00
D= = =8. 372 (m) < EAHRAIE=8.700(m)... OK
3 0. 358341 (m) =RBANE (m)

(G.L. 2.000)m

(G.L. 1.2009m

(G.L. 1.200)m

B (M) 0.358341
D = 3.00/B 8.372(C.L. -7.172)n
(m) 8.700(G.L. -7.500)m
oK
9.500m

1)

=0. 358341 (m™)

p
B
8 __4\/kH -B__1\/ 15000. 0 350. 0X 107
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